AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

SK
=Ma NEBTEE (AR

3-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

SIK
MM DB ESEEE (i LA

4-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

£
1. @ NREEHGERE - BTESESHIIHE - EMES ' 1.EMIENARANEREEETHMRMNI -
REIHINBEENT  MEXBERAE - 2.EMBAEFEMNT > BIURFRAIHE -
2. EMa{EIEMRRMAA ° 3. R~ AR EHEESKELAE A -
3. ¥5/Z0.03mm (0.0012") T.L.R. ° 4. REBMERREMES  BRARSEEE; HEAESK—K
4. REMERKEMSE BERRSEEH  HESR—K ME3EFZm A -
ME3E M A -
ERTEE ERTEE
i gL, {adEfL,
o /Back Mounting o /Mg
: PN 4
+ =
o - ]
B
EF |8 EEEE
A YA N D S
F ' F
o / o
g L% N / LIzl —t+
e L;J N\ aiL SIK-7~8IK-12=30°  ~=12"_ LB—_‘ N\ iR
SK-6~5K-12= 31° " \_Front Mounting SIK-16=15° %, Front Mounting
SK-16=30°
BSfi1 - mm
R &
SK-4 112 58 80 95 32 48 3-M8/3-M8x65 47 19 316 8 45 1200 2500 38 — @3-095 / @34-090
SK-6 167 67 130 147 45 55 3-M10/3-M10x70 72 26 402 10 9.0 2200 2000 9 003 @4-0160/@55-0150 T
SK-7 192 765 155 172 58 55 3-M10/3-M10x80 812 28 42 11 110 2500 2000 13.8 006  @8-@180/@62-3170 w5t
SK-8 200 765 160 176 58 55 3-M10/3-M10x80 82 28 42 11 110 2500 2000 155 007  ©8-0190 / @68-0180 %
SK-9 232 84 190 210 70 6 3-M12/3-M12x90 909 82 51.2 12 150 3000 2000 22 0.6 @11-9220/@70-0210 SIK-7 192 765 155 172 58 55 G3-M10/3-M10x80 82 28 42 11 110 2500 2000 141 006  ©8-0180/@62-0170
SK-10 278 87 230 250 89 8 G8-M12/3-Mi2x90 1005 85 56.7 12 195 4000 1800 29.7 026 @12-9260/@80-0250 SIK-9 2382 84 190 210 70 6 G8-M12/3-Mi2x90 96 32 512 12 150 3000 2000 222 0.6 @11-0220/@70-@210
SK-12 310 96 260 285 105 7 38-M12/3-M12x110 1145 40 56.8 14 210 4200 1800 435 058 @15-9300 /@90-0290 SIK-12 310 96 260 285 105 7 3-M12/3-M12x110 1145 40 56.8 14 210 4200 1800 45 058 ©15-9300 / @90-@290
SK-16 405 122 345 375 160 87 —/6-M14x130 1486 50 76.1 15 250 4500 1500 98 1.72 ©30-0380/@110-0360 SIK-16 405 122 345 375 160 8.7 —/6-M14x180 1486 50 761 15 250 4500 1500 108 1.72 ©30-©380/@110-0360



